Calculus AB
2-3a

Position
(Stewart Supplement)

Oct 27-8:1/ AM

4) A particle moves according to a law of motion s = f'(¢), t > 0,
where ¢ is measured in seconds and s is measured in feet.

fly=r-4t+1
a) Find the velocity at time #. \s¢¢)= FL6)=HE ~4
b) What is the velocity after 357 V(8= 4 (3Y-4 = 10Y Féfsec
¢) When is the particle at rest? V@):=0 ©=%4E:Y o=¢&3_ |

| | o t: 1 see
d) When is the particle moving in
the positive direction? -f 2| see becaws e U(Dso
e) Find the total distance traveled _
during the first 8 sec. ( SO s‘&l "’IS(Q)oS(')l €
@)- 1 |+les-¢)-
f) Draw a diagram to illustrate the ) I )' }&
motion of the particle. < ™M 25 =230 f t
- -
‘ | v
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13) a) Find the average rate of change of the area of a circle with respect
to its radius (at any ) as r changes from:
a) i) 2to3 ii) 2t02.5

b) Find the instantaneous rate of change when » = 2.

c) Show that the rate of change of the area of a circle with respect to
its radius (any r) is equal to the circumference of the circle. Try to
explain geometrically why this is true by drawing a circle whose
radius is increased by an amount Ar». How can you approximate the
resulting change in area AA if Ar is small?
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